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RTR12410-2#show interface pos 6/0

POS6/0 is up, line protocol is down
!--- The line protocol is down . Hardware is Packet over SONET MTU 4470 bytes, BW 2488000 Kbit,
DLY 100 usec, rely 255/255, load 1/255 Encapsulation HDLC, crc 32, loopback not set
!I--- The loopback has not been set. Keepalive set (10 sec)
!l --- The keepalive 1is set as every ten seconds. Scramble disabled Last input never, output
00:00:05, output hang never Last clearing of "show interface" counters never Queueing strategy:
fifo Output queue 0/40, 0 drops; input queue 0/75, 0 drops 5 minute input rate 0 bits/sec, 0



packets/sec 5 minute output rate 0 bits/sec, 0 packets/sec 0 packets input, 0 bytes, 0 no buffer
Received 0 broadcasts, 0 runts, 0 giants, 0 throttles 0 parity 0 input errors, 0 CRC, 0 frame, 0
overrun, 0 ignored, 0 abort 3 packets output, 1074 bytes, 0 underruns 0 output errors, 0
applique, 1 interface resets 0 output buffer failures, 0 output buffers swapped out 2 carrier
transitions
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hswan-12008-2a#debug serial interface

Serial network interface debugging is on

hswan-12008-2a#

Oct 31 11:47:16: POS4/0: HDLC myseq 180, mineseen 0*, yourseen 1, line up
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Oct 31 11:47:17: $LINEPROTO-5-UPDOWN: Line protocol on Interface P0S4/0,

changed state to up

!--- Local router sees a remote keepalive with a sequence number of 1. Oct 31 11:47:26: P0OS4/0:
HDLC myseq 181, mineseen 181*, yourseen 2, line up Oct 31 11:47:36: P0OS4/0: HDLC myseq 182,
mineseen 182*, yourseen 3, line up Oct 31 11:47:46: POS4/0: HDLC myseqg 183, mineseen 183%*,
yourseen 4, line up Oct 31 11:47:56: P0OS4/0: HDLC myseq 184, mineseen 184%*, yourseen 5, line up
Oct 31 11:48:06: POS4/0: HDLC myseq 185, mineseen 185*, yourseen 6, line up !--- Keepalives are
sent every 10 seconds by default. !--- Both sides report incrementing sequence numbers.

4 ClE{H|O|A 7} B2 5|1 2 QIE{H 0| A0 A keepaliveZ}t 374 0|4 2= I HDLC 24 Z0]|
CHEH HDLC 947301 CHEt debug serial interface & 0| MHE E=29QlL|C}

hswan-12008-2a#

Oct 31 11:49:46: P0OS4/0: HDLC myseq 195, mineseen 192, yourseen 13, line down

Oct 31 11:49:47: $LINEPROTO-5-UPDOWN: Line protocol on Interface P0S4/0,

changed state to down

!--- The local router has failed to receive three keepalives and !--- brings down the line
protocol. Note the difference between !--- "myseq 195" and "mineseen 192". Oct 31 11:49:56:
P0OS4/0: HDLC myseq 196, mineseen 192, yourseen 13, line down Oct 31 11:50:06: P0OS4/0: HDLC myseq
197, mineseen 192, yourseen 13, line down Oct 31 11:50:16: P0OS4/0: HDLC myseq 198, mineseen 192,
yourseen 13, line down Oct 31 11:50:26: P0OS4/0: HDLC myseq 199, mineseen 192, yourseen 13, line
down Oct 31 11:50:36: POS4/0: HDLC myseq 200, mineseen 0*, yourseen 1, line up Oct 31 11:50:37:

$LINEPROTO-5-UPDOWN: Line protocol on Interface P0S4/0, changed state to up !--- After you
execute the no shut command on the remote router, !--- the local router receives a keepalive
again and brings up !--- the line protocol.

Oct 31 11:50:46: P0OS4/0: HDLC myseq 201, mineseen 201*, yourseen
Oct 31 11:50:56: P0OS4/0: HDLC myseq 202, mineseen 202*, yourseen

2, line up
3
Oct 31 11:51:06: P0OS4/0: HDLC myseq 203, mineseen 203*, yourseen 4, line up
5
6
7

, line up

Oct 31 11:51:16: P0OS4/0: HDLC myseq 204, mineseen 204*, yourseen
Oct 31 11:51:26: P0OS4/0: HDLC myseq 205, mineseen 205*, yourseen

, line up
, line up

Oct 31 11:51:36: P0OS4/0: HDLC myseq 206, mineseen 206*, yourseen 7, line up

!-——- After the shut/no shut, the remote router re-initialized its !--- sequence number.
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4d01h: PO3/1 LCP: State is Open

4d01h: PO3/1 PPP: I pkt type 0x8021, datagramsize 14 LCP_UP
(0x639FCAD8) id 0 (0s.) gueued 1/1/2

4401h: PO3/1 PPP: Phase is UP

4d01h: PO3/1 IPCP: O CONFREQ [Closed] id 152 len 10

4d01h: PO3/1 IPCP: Address 172.16.1.1 (0x0306AC100101)
4d01h: PO3/1 PPP: I pkt type 0x8021, datagramsize 14

4d01h: PO3/1 IPCP: I CONFREQ [REQsent] id 1 len 10

4d01h: PO3/1 IPCP: Address 172.16.1.2 (0x0306AC100102)
4d01h: PO3/1 IPCP: O CONFACK [REQsent] id 1 len 10

4d01h: PO3/1 IPCP: Address 172.16.1.2 (0x0306AC100102)
4d01h: PO3/1 IPCP: I CONFACK [ACKsent] id 152 len 10
4d01h: PO3/1 IPCP: Address 172.16.1.1 (0x0306AC100101)

4d01h: PO3/1 IPCP: State is Open

4d01lh: PO3/1 IPCP: Install route to 172.16.1.2

4d01h: $LINEPROTO-5-UPDOWN: Line protocol on Interface P0OS3/1,
changed state to up

2 10: PPP Zi£3s 2 £ MHE POS QBT O|AE PPP MM MXME H& ALt ek, IOl
7t MIHE|CEIE X|SEQ 2X|7F ehalig A M7|He =z ar Ol = 2 E Z 0| &7 LIEFLLICEH
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LCP Echo-Request & Echo-Reply T{Z!2 2l3.9| 2 eFoil CHEH Bi|ofof 2 R =ZE HAHLIES XS
gHLICH LCP Opened & EH0ll A Echo-RequestE —|—/‘._|3EF A2 Echo-ReplyE ™&3dtoF & LIC}.

RFC 16612] 0| C}0|o{13 2 PPP keepalive T{Z/ 2| & Alg HoiZL|C}.
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olz4#t LCP W0l T+ 7| TE s ZeELIC,

cAE -2 2™o= 90| o= SF o= 10ILCt.

. Identifier(A=X}) - & A| Data(CllO|E{) ZE=9| LIg0o| HAE miotch 22|21 o] 2&oi| of
3 &8 2|2lo] £=AIE ufobCh Identifier(A/EAL) ZEE #HZASofF BHLICH TS| B A
HAHE HEEX] 22 5 U&LICE &40 M Echo-Request?| Identifier 2 =7} Echo-Reply If
19| Identifier ZE0fl ZAFEILICH

. Magic-Number—Magic-Number ZE= 47§9| 8%~ 2 F I H(|ooloop-back) & E{ S| 213 EFX|
E x| & LIct Magic-Number Configuration OptionO| &2 2 $ A 77} K| Magic-
NumberE 022 &5l oF & LICH XtAIEH LI 2 RFC 16612 Magic-Number 7411|1240 M
SME FxsHAA2.
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4d01h: PO3/1 LCP: O ECHOREQ [Open] id 1 len 12 magic 0x1A45933B
4d01h: PO3/1 PPP: I pkt type 0xC021, datagramsize 16
4d01lh: PO3/1 LCP: I ECHOREP [Open] id 1 len 12 magic 0x00000002
4d01h: PO3/1 LCP: Received id 1, sent id 1, line up
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Requestl| =AIXI= I|o{o] 4Z40| B4 HHX| 7|CH240F SHH, Terminate-Acke £ & 5Lt O]
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. - Terminate-Request2| B 50|11 Terminate-Ack2| B 6l L|LCt.

. Identifier(A=4X}) - & Al Data(CllO|E{) 2= 9| LHg0o| HHAE miotct, 22|12 o|F 2o .Y
8 923t 3/410] 4 Al mobch Identifier(AlEAH) WES #zdsfok BLICH TS0 B A
HA = HEEX| A2 5 UE&LICEH =21 Al Terminate-Request?| Identifier 2 =7} Terminate-
Ack IHZ! 9| |dentifier Z=0i £ AFEILICE.

Data ZE= 07 O|&f 2| 8%l0|H EH AtEfO| AL & SHAE[X| i 2 C|o|HE Z & &hLCt. To|H
= ZE Ol gteE 7 EE = /UaLct EEo| &2 Z0|E EA|FE LY.

CI22 TERMREQ T2/ 4= 418 [ debug ppp B4 £249| of L]}

4d01h: PO3/1 PPP: I pkt type 0xC021, datagramsize 8

4d01h: PO3/1 LCP: I TERMREQ [Open] id 4 len 4

4d01h: PO3/1 LCP: O TERMACK [Open] id 4 len 4

4d01h: PO3/1 PPP: I pkt type 0xC021, datagramsize 18

4d01h: PO3/1 IPCP: State is Closed

4d01h: PO3/1 PPP: Phase is TERMINATING

4d01h: PO3/1 LCP: I CONFREQ [TERMsent] id 1 len 14

4d01h: PO3/1 LCP: MRU 1500 (0x010405DC)

4d01lh: PO3/1 LCP: MagicNumber 0x00000002 (0x050600000002)

4d01h: PO3/1 LCP: Dropping packet, state is TERMsent

!-—- While in the TERMsent state, PPP should drop all other packets. 4d0lh: PO3/1 IPCP: Remove
route to 172.16.1.2 4d0lh: $LINEPROTO-5-UPDOWN: Line protocol on Interface P0OS3/1, changed state
to down
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interface POS1/0

ip address 1.1.1.6 255.255.255.0
no ip directed-broadcast
encapsulation ppp

crc 16

clock source internal
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interface P0S2/0

ip address 1.1.1.5 255.255.255.0
no ip directed-broadcast
encapsulation ppp

crc 16
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Router A Debug Output

(1)

!--- The router sends an outgoing confreqg. hswan-12008-
2a# *Nov 7 08:27:00: $LINK-3-UPDOWN: Interface POS1/0,
changed state to up *Nov 7 08:27:00: PO1/0 PPP: Treating
connection as a dedicated line *Nov 7 08:27:00: P0O1/0
PPP: Phase is ESTABLISHING, Active Open *Nov 7 08:27:00:
PO1/0 LCP: O CONFREQ [Closed] id 7 len 14 *Nov 7
08:27:00: PO1/0 LCP: MRU 4470 (0x01041176) *Nov 7
08:27:00: PO1/0 LCP: MagicNumber 0x4F46AF4D
(0x05064F46AFAD)

(4)

!--- Router A receives an incoming confreq from router
B. *Nov 7 08:27:00: PO1/0 LCP: I CONFREQ [REQsent] id 45
len 14 *Nov 7 08:27:00: PO1/0 LCP: MRU 4470 (0x01041176)
*Nov 7 08:27:00: PO1/0 LCP: MagicNumber 0x2631E6D2
(0x05062631E6D2)

(5)

!--- Router A responds with a confack and receives a !--
- confack from Router B. The LCP state is open. *Nov 7
08:27:00: PO1l/0 LCP: O CONFACK [REQsent] id 45 len 14
*Nov 7 08:27:00: PO1/0 LCP: MRU 4470 (0x01041176) *Nov 7
08:27:00: PO1/0 LCP: MagicNumber 0x2631E6D2
(0x05062631E6D2) *Nov 7 08:27:00: PO1/0 LCP: I CONFACK
[ACKsent] id 7 len 14 Nov 7 08:27:00: PO1/0 LCP: MRU
4470 (0x01041176) *Nov 7 08:27:00: POl/0 LCP:
MagicNumber 0x4F46AF4D (0x05064F46AF4D) *Nov 7 08:27:00:
PO1/0 LCP: State is Open *Nov 7 08:27:00: PO1l/0 PPP:
Phase is UP

(7)
!--- Router A begins the IPCP stage and negotiates an IP

address. !--- In this setup, the peer router already has
an address and !--- sends it in a confreq. If the peer
router accepts the address, !--- it responds with a

confack. *Nov 7 08:27:00: PO1l/0 IPCP: O CONFREQ [Closed]
id 7 len 10 *Nov 7 08:27:00: PO1/0 IPCP: Address 1.1.1.6
(0x030601010106) *Nov 7 08:27:00: PO1/0 CDPCP: O CONFREQ
[Closed] id 7 len 4 *Nov 7 08:27:00: PO1/0 IPCP: I
CONFREQ [REQsent] id 9 len 10 *Nov 7 08:27:00: PO1/0
IPCP: Address 1.1.1.5 (0x030601010105) *Nov 7 08:27:00:
PO1/0 IPCP: O CONFACK [REQsent] id 9 len 10 *Nov 7
08:27:00: PO1/0 IPCP: Address 1.1.1.5 (0x030601010105)
*Nov 7 08:27:00: PO1/0 CDPCP: I CONFREQ [REQsent] id 9
len 4 *Nov 7 08:27:00: PO1/0 CDPCP: O CONFACK [REQsent]
id 9 len 4 *Nov 7 08:27:00: PO1/0 IPCP: I CONFACK
[ACKsent] id 7 len 10 *Nov 7 08:27:00: PO1l/0 IPCP:
Address 1.1.1.6 (0x030601010106) *Nov 7 08:27:00: PO1/0
IPCP: State is Open *Nov 7 08:27:00: PO1/0 CDPCP: I
CONFACK [ACKsent] id 7 len 4 *Nov 7 08:27:00: P0O1/0
CDPCP: State is Open *Nov 7 08:27:00: PO1/0 IPCP:
Install route to 1.1.1.5 *Nov 7 08:27:01: $LINEPROTO-5-
UPDOWN: Line protocol on Interface POS1/0, changed state
to up

ctRE|BCIHI &




(2)

!--- Router B receives an incoming confrqg from Router A.
hswan-12008-2b# Nov 7 10:29:19.043: PO2/0 LCP: I CONFREQ
[Open] id 7 len 14 Nov 7 10:29:19.043: PO2/0 LCP: MRU
4470 (0x01041176) Nov 7 10:29:19.043: PO2/0 LCP:
MagicNumber 0x4F46AF4D (0x05064F46AF4D) Nov 7
10:29:19.043: PO2/0 IPCP: State is Closed Nov 7
10:29:19.043: PO2/0 CDPCP: State is Closed Nov 7
10:29:19.043: PO2/0 PPP: Phase is TERMINATING Nov 7
10:29:19.043: PO2/0 PPP: Phase is ESTABLISHING

(3)

!--- Router B sends its own LCP confreqg. Nov 7
10:29:19.043: PO2/0 LCP: O CONFREQ [Open] id 45 len 14
Nov 7 10:29:19.043: PO2/0 LCP: MRU 4470 (0x01041176) Nowv
7 10:29:19.043: PO2/0 LCP: MagicNumber 0x2631E6D2
(0x05062631E6D2)

(6)

!--- Router B responds with a confack and receives a
confack from Router A. The LCP state is open. Nov 7
10:29:19.043: PO2/0 LCP: O CONFACK [Open] id 7 len 14
Nov 7 10:29:19.043: PO2/0 LCP: MRU 4470 (0x01041176) Nowv
7 10:29:19.043: PO2/0 LCP: MagicNumber O0x4F46AF4D
(0x05064F46AF4D) Nov 7 10:29:19.043: PO2/0 IPCP: Remove
route to 1.1.1.6 Nov 7 10:29:19.047: PO2/0 LCP: I
CONFACK [ACKsent] id 45 len 14 Nov 7 10:29:19.047: P0O2/0
LCP: MRU 4470 (0x01041176) Nov 7 10:29:19.047: P0O2/0
LCP: MagicNumber 0x2631E6D2 (0x05062631E6D2) Nov 7
10:29:19.047: PO2/0 LCP: State is Open Nov 7
10:29:19.047: PO2/0 PPP: Phase is UP

(8)

!--—- Router B also begins the IPCP stage and negotiates
an IP address. Nov 7 10:29:19.047: PO2/0 IPCP: O CONFREQ
[Closed] id 9 len 10 Nov 7 10:29:19.047: PO2/0 IPCP:
Address 1.1.1.5 (0x030601010105) Nov 7 10:29:19.047:
PO2/0 CDPCP: O CONFREQ [Closed] id 9 len 4 Nov 7
10:29:19.047: PO2/0 IPCP: I CONFREQ [REQsent] id 7 len
10 Nov 7 10:29:19.047: PO2/0 IPCP: Address 1.1.1.6
(0x030601010106) Nov 7 10:29:19.047: PO2/0 IPCP: O
CONFACK [REQsent] id 7 len 10 Nov 7 10:29:19.047: P0O2/0
IPCP: Address 1.1.1.6 (0x030601010106) Nov 7
10:29:19.047: PO2/0 CDPCP: I CONFREQ [REQsent] id 7 len
4 Nov 7 10:29:19.047: PO2/0 CDPCP: O CONFACK [REQsent]
id 7 len 4 Nov 7 10:29:19.047: PO2/0 IPCP: I CONFACK
[ACKsent] 1d 9 len 10 Nov 7 10:29:19.047: PO2/0 IPCP:
Address 1.1.1.5 (0x030601010105) Nov 7 10:29:19.047:
PO2/0 IPCP: State is Open Nov 7 10:29:19.047: P0O2/0
CDPCP: I CONFACK [ACKsent] id 9 len 4 Nov 7
10:29:19.047: PO2/0 CDPCP: State is Open Nov 7
10:29:19.047: PO2/0 IPCP: Install route to 1.1.1.6 *Nov
7 10:29:19.048: $LINEPROTO-5-UPDOWN: Line protocol on
Interface P0OS2/0, changed state to up
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(1)

*Nov 7 10:19:58: PO1/0 PPP: I pkt type 0xC021,
datagramsize 18

!--- 0xC021 identifies LCP. *Nov 7 10:19:58: PO1/0 LCP:
I CONFREQ [Closed] id 7 len 14 *Nov 7 10:19:58: P01/0
LCP: MRU 4470 (0x01041176) *Nov 7 10:19:58: P0O1/0 LCP:
MagicNumber 0x269933F4 (0x0506269933F4) *Nov 7 10:19:58:
PO1/0 LCP: O CONFREQ [Closed] id 57 len 147Z *Nov 7
10:19:58: PO1/0 LCP: MRU 4470 (0x01041176) *Nov 7
10:19:58: PO1/0 LCP: MagicNumber 0x4FAE1BOC
(0x05064FAE1BOC) *Nov 7 10:19:58: PO1l/0 LCP: O CONFACK
[REQsent] id 7 len 14 *Nov 7 10:19:58: PO1/0 LCP: MRU
4470 (0x01041176) *Nov 7 10:19:58: PO1l/0 LCP:
MagicNumber 0x269933F4 (0x0506269933F4) *Nov 7 10:19:58:
$LINK-3-UPDOWN: Interface P0OS1/0, changed state to up
*Nov 7 10:19:58: PO1l/0 PPP: I pkt type 0xC021,
datagramsize 18 *Nov 7 10:19:58: P0O1/0 LCP: I CONFACK
[ACKsent] id 57 len l4ppp *Nov 7 10:19:58: PO1l/0 PPP: I
pkt type 0x8021, datagramsize 14

!--- 0x8021 identifies IPCP, PPP internet protcol
control protocol. *Nov 7 10:19:58: PO1/0 LCP: MRU 4470
(0x01041176) *Nov 7 10:19:58: PO1l/0 PPP: I pkt type
0x8207, datagramsize 8

I--—- 0x8207 identifies Cisco discovery protocol control.
*Nov 7 10:19:58: PO1/0 LCP: MagicNumber 0x4FAE1BOC
(0x05064FAE1BOC) *Nov 7 10:19:58: P0O1/0 IPCP: O CONFREQ
[Closed] id 15 len 10 *Nov 7 10:19:58: PO1/0 IPCP:
Address 1.1.1.6 (0x030601010106) *Nov 7 10:19:58: P0O1/0
CDPCP: O CONFREQ [Closed] id 13 len 4 *Nov 7 10:19:58:
PO1/0 IPCP: I CONFREQ [REQsent] id 14 len 1l1l0packet *Nov
7 10:19:58: PO1/0 IPCP: Address 1.1.1.5 (0x030601010105)
*Nov 7 10:19:58: PO1/0 IPCP: O CONFACK [REQsent] id 14
len 10 *Nov 7 10:19:58: PO1/0 IPCP: Address 1.1.1.5
(0x030601010105) *Nov 7 10:19:58: PO1l/0 PPP: I pkt type
0x8021, datagramsize 14 *Nov 7 10:19:58: P0O1/0 CDPCP: I
CONFREQ [REQsent] id 15 len 4 *Nov 7 10:19:58: PO1/0
CDPCP: O CONFACK [REQsent] id 15 len 4 *Nov 7 10:19:58:
PO1/0 IPCP: I CONFACK [ACKsent] id 15 len 10 *Nov 7
10:19:58: PO1/0 PPP: I pkt type 0x8207, datagramsize 8
*Nov 7 10:19:58: PO1l/0 IPCP: Address 1.1.1.6
(0x030601010106) *Nov 7 10:19:58: PO1l/0 CDPCP: I CONFACK
[ACKsent] id 13 len 4 *Nov 7 10:19:59: PO1/0 PPP: I pkt
type 0x0207, datagramsize 376

!--- 0x0207 identifies Cisco Discovery Protocol (CDP).
*Nov 7 10:19:59: PO1l/0 PPP: I pkt type 0x0207,
datagramsize 376 *Nov 7 10:19:59: PO1l/0 PPP: I pkt type
0x0207, datagramsize 376 *Nov 7 10:19:59: SLINEPROTO-5-
UPDOWN: Line protocol on Interface POS1/0, changed state
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to up

(3)

! -—— ECHOREQand ECHOREP packets for PPP keepalives use
packet type values !--- of 0xC021. *Nov 7 10:20:05:
PO1/0 PPP: I pkt type 0xC021, datagramsize 16 *Nov 7
10:20:05: PO1/0 LCP: I ECHOREQ [Open] id 1 len 12 magic
0x269933F4 *Nov 7 10:20:05: PO1/0 LCP: O ECHOREP [Open]
id 1 len 12 magic 0x4FAE1BOC *Nov 7 10:20:07: PO1/0 LCP:
O ECHOREQ [Open] id 1 len 12 magic O0x4FAE1BOC *Nov 7
10:20:07: PO1/0 PPP: I pkt type 0xC021, datagramsize 16
*Nov 7 10:20:07: PO1l/0 PPP: O pkt type 0x0207,
datagramsize 376 *Nov 7 10:20:07: PO1/0 LCP: I ECHOREP
[Open] id 1 len 12 magic 0x269933F4 *Nov 7 10:20:07:
PO1/0 LCP: Received id 1, sent id 1, line up

ctE BCIHI &%

(2)

Nov 7 12:22:16.947: PO2/0 PPP: I pkt type 0xC021,
datagramsize 18

Nov 7 12:22:16.947: P0O2/0 LCP: I CONFREQ [REQsent] id
57 len 14

Nov 7 12:22:16.947: PO2/0 LCP: MRU 4470 (0x01041176)
Nov 7 12:22:16.947: PO2/0 PPP: I pkt type 0xC021,
datagramsize 18

Nov 7 12:22:16.947: PO2/0 LCP: MagicNumber
0x4FAE1BOC (0x05064FAE1BOC)

Nov 7 12:22:16.947: P0O2/0 LCP: O CONFACK [REQsent] id
57 len 14

Nov 7 12:22:16.947: PO2/0 LCP: MRU 4470 (0x01041176)
Nov 7 12:22:16.947: PO2/0 LCP: MagicNumber
0x4FAE1BOC (0x05064FAE1BOC)

Nov 7 12:22:16.947: P0O2/0 LCP: I CONFACK [ACKsent] id 7
len 14

Nov 7 12:22:16.947: PO2/0 LCP: MRU 4470 (0x01041176)
Nov 7 12:22:16.947: PO2/0 LCP: MagicNumber
0x269933F4 (0x0506269933F4)

Nov 7 12:22:16.947: P0O2/0 IPCP: O CONFREQ [Closed] id
14 len 10

Nov 7 12:22:16.947: P0O2/0 IPCP: Address 1.1.1.5
(0x030601010105)

Nov 7 12:22:16.947: P0O2/0 CDPCP: O CONFREQ [Closed] id
15 len 4

Nov 7 12:22:16.947: PO2/0 PPP: I pkt type 0x8021,
datagramsize 14

Nov 7 12:22:16.951: PO2/0 PPP: I pkt type 0x8207,
datagramsize 8

Nov 7 12:22:16.951: PO2/0 IPCP: I CONFREQ [REQsent] id
15 len 10

Nov 7 12:22:16.951: PO2/0 IPCP: Address 1.1.1.6
(0x030601010106)

Nov 7 12:22:16.951: PO2/0 IPCP: O CONFACK [REQsent] id
15 len 10

Nov 7 12:22:16.951: PO2/0 IPCP: Address 1.1.1.6
(0x030601010106)

Nov 7 12:22:16.951: PO2/0 PPP: I pkt type 0x8021,
datagramsize 14

Nov 7 12:22:16.951: P0O2/0 CDPCP: I CONFREQ [REQsent] id
13 len 4

Nov 7 12:22:16.951: P0O2/0 CDPCP: O CONFACK [REQsent] id




13 len 4

Nov 7 12:22:16.951: P0O2/0 PPP: I pkt type 0x8207,
datagramsize 8

Nov 7 12:22:16.951: P0O2/0 IPCP: I CONFACK [ACKsent] id

14 len 10

Nov 7 12:22:16.951: PO2/0 IPCP: Address 1.1.1.5
(0x030601010105)

Nov 7 12:22:16.951: PO2/0 CDPCP: I CONFACK [ACKsent] id
15 len 4

Nov 7 12:22:17.947: S$SLINEPROTO-5-UPDOWN: Line protocol
on Interface P0S2/0,
changed state to up

(4)

!--- ECHOREQ and ECHOREP packets for PPP keepalives use
packet type !--- values of 0xC021. Nov 7 12:22:17.947:
PO2/0 PPP: O pkt type 0x0207, datagramsize 376 Nov 7
12:22:17.947: PO2/0 PPP: O pkt type 0x0207, datagramsize
376 Nov 7 12:22:17.947: PO2/0 PPP: O pkt type 0x0207,
datagramsize 376 Nov 7 12:22:23.403: PO2/0 LCP: O
ECHOREQ [Open] id 1 len 12 magic 0x269933F4 Nov 7
12:22:23.403: PO2/0 PPP: I pkt type 0xC021, datagramsize
16 Nov 7 12:22:23.403: PO2/0 LCP: I ECHOREP [Open] id 1
len 12 magic O0x4FAE1BOC Nov 7 12:22:23.403: P0O2/0 LCP:
Received id 1, sent id 1, line up Nov 7 12:22:25.595:
PO2/0 PPP: I pkt type 0xC021, datagramsize 16
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*Sep 5 17:41:46: $SONET-4-ALARM: POS1/0: SLOS

*Sep 5 17:41:46: %SONET-4-ALARM: PO0S2/0: APS enabling channel

*Sep 5 17:41:46: %SONET-6-APSREMSWI: POS2/0: Remote APS status now Protect
*Sep 5 17:41:46: %SONET-4-ALARM: PO0OS1/0: APS disabling channel

*Sep 5 17:41:46: %LINEPROTO-5-UPDOWN: Line protocol on Interface P0S2/0,

changed state to up

*Sep 5 17:41:46: %LINEPROTO-5-UPDOWN: Line protocol on Interface P0OS1/0,

changed state to down

*Sep 5 17:41:48: SLINK-3-UPDOWN: Interface POS1/0, changed state to down

*Sep 5 17:41:48: %0OSPF-5-ADJCHG: Process 1, Nbr 192.168.100.100 on POS1/0
from FULL to DOWN, Neighbor Down: Interface down or detached

*Sep 5 17:41:56: %0OSPF-5-ADJCHG: Process 1, Nbr 192.168.100.100 on POS2/0
from LOADING to FULL, Loading Done
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